AQ@Z%%W 23 /1S LL
Yoo/ Hsr 2o
J@/v{d%/w@ww %m
oot 2 Wu /W %M
i ole Lo Bpthymidale W&“W /s
7/%5 : //c% ,@Zwﬁ%éf% mz%f// Zt w/ /d% Va V%%z%

ﬂﬁzzaé%z;%é%%%%ézﬁﬂéﬂ%ff(%Z%%a&%y&émeéid

Guphiog »illed o oritlet

P

Z —
' +l =X +/7 X =0
/?3) % = L2 2 | y=2()2 = 2
2 xi+2x =0 _ ,
%ﬁde+Z x=0 7
7¢(9¢+~2) =0
3 i =0 | x+270 x="
sl - / e y=2(-2)2 =
=2, y=¢




s 2

/‘i&){%‘%:l ‘39@52% 72)f% 2 s3
2542

Z
zz7 MW
2-%=y" %ML; A
/’
0:;;1+;¢~2 ;gL—P%er{:O

/z (zz # %xﬁj =2(0)

0= (3+2)(31)

2 2 F3x+2 =0

%+Z,0 t %-/:0 '
?//«“Z %c/ !4:2 &=3 ec=t

()¢ | == _=(3) 2 Jy-¢) ;Sf/—az—%:—sf/:?
o | %7 2 (2) & ¥

X#‘,/:“‘Z = //%;/ f WWWW

R

op)fx== 44?‘
x iyt Ced) + (p43) = ll g it s
W’“ ((2)47\ J—/u/,pg) [ ¢

(-2) +y=F#
Zi% l [%) +(%¢5) ={6
(7L+% = /g , (y-ﬁ})zz//
z

’ | (4+3) =0

%: 0 _

p#3 =0

}KZ’Z/%ZO ;j =3
DC;Z/%:"}

A -

e— | —



2(/-1—)+5:0 Jx -[ =0
2(/=)=3 =

e = oc = |

e 4

’ Y=JuH =2

y=[T #1440 |

=$+5:3 / Lok
. () =2(1)+¢
)29 2=
s 7.8
L 2 2
S - 755//%:L
77 —

divcard






ZOZ)W
[/, <[5

2
T?+ [ x+3) =7 | lxTo iy
o ;;C;“’;
Gor s syl )= [ 2¢20 S
2 ()C {x ?) q ( %Z[o)—h’Z? *73
[0t #6x =0 A s B’?;J‘/;:‘E’
ZZ (S‘X \//3):0 ’ 7 20 W 5 S
10)5 ()31 2y
~3 2\ 2
757 7(7) " /’s: —
PN
=l 325 LS +LZ 7
225
Y
9 £q
3 12
= = Y
P y =




20&){8)5%%?0 M&% ///ﬂf

%"/2%-’/ J )¢+/-:<) ) 2:-//;0
3=/ oc = |
T (2x-/)=0 ==/ f
8Z (Z) /) - 3 %;Z,(f)“/: /

-2 S M
“/1)=0 | °3 373
(52&*0(76 /) 0 | 3 3 3(/)2_’(/) 0
7
EN3)E0 | 3
sl k3t 270
, ,‘gﬁ#p | -
| Yy W
203) %Vx 5 f >z O x-[=0
' - v ¢ = |
%/ D<,+% ; %;(Oﬁisﬁ ;%;(/)%5 =
%2+5: x+3 | M ; LMZ
1 2) 2 /0)" (1) +3
xz_%::O C‘_,)\,//)J/Z }(:;)!%
2 (e-)z0 377 ey
' )Q;&/%Dg %;/!%V
— - -
2 2ty 7S W 2(yee) (3720
/O){ % ' Ytfzo 3’“5;0
-y | =2 xEFH O gy »= _
. - Lz (9 Zza)*/ g
I =225 = )
(yt1) +2 | J@;Z o |y 2o
(y4241) 43522 | (’;) */g” ot
t ——
x = -
Z(yl+}-/2)v0 (12'5/%:“;‘ A



2 -’Z%iy ;}M
| ;jL%Z% =¥
%Z—%Z%’X:O
(3+¢)p-2)=0
y+ye0 | Y-2=2
Y == 7 -
X 2 (-¢)=7 xt-2(2) =§
xE+ 5 =) X
x5z 0 )CZ:/Z, _
> = O > = = lz
2 , o 9
o (4210 | (2R) (2 =
|2+ o
[ =14

16 L1y
2w=0, =% )/

——

ZW) {%%%Zﬁ ¢ —> 2ty =t

yz—z% ‘g: 0
/W/)(%ﬁ) =0




21 Y) pories

3¢+/;0
=1

DCL+Z (’/): /

x5 -2 = |
xt=3

xt % )3

-3=0
U‘F) +(/) % x"r2(3) = (
571 X+ =
%-’//% 2 ‘oS
=4z y=/ WMWWM%-—
s’

x= 3, 2=

—

/2%&Jg% g 2y ? liiniZiom

x"-y =3 _9’“’5‘%%

yh%‘g
Yry-4=0
(p+3)(#2)=0
v -/ =0
pows | - Aok
VT | )
;/ _ 3 ig xt-(2)=3 (if;) J”(a) =7
%1*5:3 DCL'«: >
e
XZ':O 7(:'); S 7 s ?
- = 0
M 9(:7%/\5_‘11 %: 2,
[5)27"(°5)l:? g/»/
929 i
o777

s (8



L 2 2
2 %/
2 C+=40
. ok
G ; s Z:M‘/%;M/
é+ ,)2+ Z;ZS—* Q(’%) ,3[’5) ._"';S— ic=:+§;/%:_¢
te)ty 2(16)-3(7) L
/g +%ZZZY 22 — 27 /%
%Z: S":/g =Y, =¥
p=2
) 2y e o
x?* -
A
9 xE =4
xl;? CZ’:+5/ %:+2
x<f3 ) B
— hock ‘X-¢5/%«Z
4 = 1 Sl 7
(£3)+ =13 (£3)=(%2) = 5 o
g +y=13 7-¢
Le X:'B *v.-.,L
% 9% g ‘—L'/g //



22”2){ Pt + 7%1: 3¢ Zéwéw/él’&m | “SLLD

22" “@%Z: /X
{xl ‘—55‘
2597

x=*73 M
W+ Ty =3¢ 2(3)-04)=10

s = v = -

(?[(7)4?%1350/ Z(‘?J R 2/%v(7

34+ 7y T s L
C/‘XLZO
%2;0
F=0

élxl*%?/:%
xt=4
oy 778
Xzt g () ~lo) =
L) +y=¢ ¢ L
Syt
yl"/O %C:‘/’//%:p
VIREAp) QC':’// =0



s (!

y ot
x?43(23)<28
xZ+3(9)=2%
aF+27=248
x “= |
x =+

2 *
7 P .x:%//%:”/
1 T
xX=={ L=
_—
)C:*//%:“/



